
 



EI 3 2 15 1 0

2 2 117 0

2 2 5 17 212 13 1
2 8 8 0

FindingsolutionstoQuadraticEquationstII
Factoring
The Zeroproductproperty says that A 13 0 if
and only if A O or 13 0

F 0 I L

EI 2 2 15 x 3 2
2
they x 3

2 2 15 3 0

xt 1 0 2x 1 x 137 0

I t Ex 2 1 0 or x 13 0

T 2x I 1 7
1x II

3T 2T

3T 2T O
3T 2 0

It O or 3 t 2 0

i



212 14 14 0

X 1211 121 0

X 12 0

Ix

Caution We needs the right hand side to be 0 in
order to apply the zero productproperty
If 3 X 2 100 we can't say
X 13 0 I x 2 0

III SquaveRootproperty
If u is an algebraic expression and d20
with a D then u _Iid

Exe x 25 When asked to evaluate tf
X Iihs we look for a positive number
X I 5 Whose squire is 25 Only 5

o Janes that description soresWhen asked to solve 212 25
X 13 we look for aft X values whose
X I square is 25 So 12 5 X 5

txt 2 2 17 0

x 1212 17
X 12 ITF



X ZIVA

IIII completingthesquareafinen
an expression of the form X2tbx

we convert the expression to a perfect square
by adding to xHbx the square of half of b

EI xF6x
add E to xF6x

So It 6 19 x 135

X2t3X
add IT to X2t3x

So x43x t E x 127

Now we use this method of completing the

Square to solve quadratic equations

EI x2 110 8 0

X 110x 8
x 110 1 EY 8 CET
X t 10 1 25 8 125

x 1572 17
X 15 t TA
x 5 ITA



x 6 17 0
2 6 x 7

x 6 1 fEY 7 t f E
X 3 2

X 3 Iff
x 3 Irs

3 2 4 1 0

Want left hand sale to look like E bx
3 2 4 1 0

3 2 4x I
3 3 3
2 Iz X Iz

x Fx tf F IT s t EF z

x Ext F I T
x 4gx I t Ig

x ET ft't
x 35 Ig

x E FI
x Zz I



IIII Using the Quadratic Formula
A quadratic equation of the form

axe bx tc 0

has solutions
x

b ta
T

3 2 5 2

3 2 5 2 0

C57 I 2 4
x 213

5 I 25247
6

51 497
6

5 I
5 z

G 5 Zo 13

Bonny 3 2 5 2 x 2 3 11

since since X

21 2 3x I
X 2 0 3 11 0


